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#include<stdio.h>

int main(void){
int 1i;
double ddd;
double a[3][3];

for(i=0; i<3; i++){

return O;

ddd = determinant(a);

printf ("det=%f\n", ddd);

double determinant (double a[3][3]){
/* OO0O0O0ooOoood

*/

printf("30 3000000000\ ;

printf("%d 0000000 ON\n", i+1);
scanf ("%1f Y1f %1f", &ali][0], &alil[1], &alil[2]);
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#include<stdio.h>

double determinant (double al[3][3]){
/x 0000 0O0Oo00Oog =/

}

int main(void){

int i, j, k;

double x, y, z, dd, dx, dy, dz;

double arrayl[3][4];

double ax[3][3], ay[3]1[3], az[3]1[3], ad[3][3];

for(i=0; i<3; i++){
/ OJO0000000ooooooooo =/
}

for(i=0; i<3; i++){
for(j=0; j<3; j++)
ad[il [j] = arrayl[i] [j];

dd = determinant(ad);

for(i=0; i<3; i++){
for(j=0; j<3; j++){
k=j;
if (j==0)
k=3;
ax[i]1[j] = array[il [k];

dx = determinant(ax);

/* dyD0O0 */
/* dzOOO */

if(dd == 0)
printf ("0 000000 \n");
else{

x=dx/dd; y=dy/dd; z=dz/dd;

printf("X=%f, y=%f, zz%f\n": X, Y, Z);

return O;
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